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TrigonometryExercise6 for No.9395

d=(2sin(0)+1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(20)=0) 4=(sin(30)=1)

d=(2 [sin(@)]2+ sin(B)-1=0) .2=(2 [cos(@)]2+ sin(B)-1=0)
No2 =

No]z{

3=(2 [sin(@)]z—sin(e) =0) 4= (sin(6)+cos(6):«/5)
.S =(tan(0) sin(0) =tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—1=0)}
3=(sin(40)=0) 4=(cos(20)=1)
I=(2[sin(8)]" =3sin(0)+1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[sin(6)]3—sin(6):0)
N05:[ 1 =(2sin(0)—1=0) .2:(4[sin(6)]2:3)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9419

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—3=0)}
3=(cos(260)=0) A4=(sin(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]" +3cos(6)—3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(cos(6)—sin(6):«/5)
J=(2tan(0)cos(B)=tan(H)) .6=(4[cos(e)]3—3cos(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(cos(40)=0) A4=(sin(40)=1)
.1:(2[003(6)]2+cos(6)—1:0) .2:(2[003(8)]2+sin(6)—1:0)
Nod=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[sin(8)] —sin(6)=0)
No5:[ A=(2sin(0)—-1=0) .2:(4[005(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.9428

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—3=0)}
3=(sin(30)=0) 4=(sin(20)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]* -3 cos(8)-3=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—sin(9):0)
N03:{1=(2sm(e)+1=0) .2=(4[cos(6)]2—1=0)}
3=(cos(40)=0) 4=(cos(20)=1)
I=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]* +sin(8)—1=0)
Nod = 3=(2[sin(0)]* —sin(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(e)]3—3cos(6):0)

No _{ A =(2sin(0)-1=0) .2:(4[sin(6)]2:1)}
- 3=(tan(0)sin(0) =tan(0)) .4=([tan(0)]’=1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9459

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(36)=0) A4=(sin(20)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[cos(0)]* +sin(0)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[cos(9)]3—cos(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(cos(20)=0) 4= (cos(40)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[sin(6)]2—cos(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(6)—cos(6):«/5)
.5 =(tan(0) sin(6)=tan(0)) 6=(4[cos(8)]’ =3 cos(6)=0)
NO5{ 1=(2sin(0)—1=0) .2=(4[sin(9)]2=3)}
.3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.9476

NO]:[.I:(2sin(6)—1=0) .2=(4[cos(9)]2—3=0)}
3=(sin(30)=0) 4=(cos(30)=1)
.]=(2[cos(9)]2—3cos(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(6)]3—cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—1=0)}
3=(sin(20)=0) A4=(sin(40)=1)
I=(2[sin(0)F +3sin(0)+1=0) .2=(2[sin(0)]* —cos(8)—1=0)
Nod=| .3=(2[sin(0)]*+sin(6)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—sin(6):0)
N05:{ 1=(25sin(8)+1=0) .2:(4[sin(6)]2:3)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9491

No]:{l =(2cos(0)-1=0) .2=(4 [COS(G)]2—3 :0)}

3=(cos(20)=0) 4=(cos(40)=1)
d=(2[cos(0)*=3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = 3=(2[sin(0)]* —sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(6)]2—3=0)}
3=(sin(40)=0) 4=(sin(20)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[sin(6)]2—cos(6)—1:0)
Nod = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S5 =(2tan(0)sin(6)=tan(0)) 6=(4[cos(8)]’ =3 cos(8)=0)
NO5{ I=(2sin(8)—1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.9633

NO]:[.I:(2sin(6)+1:O) .2:(4[sin(9)]2—1:0)}
3=(sin(40)=0) 4=(cos(30)=1)
.]=(2[cos(9)]2—3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2 = 3=(2[sin(0)] - sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—3sin(@)zO)
N03:{1:(2sin(e)—1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(30)=0) 4=(cos(20)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[cos(0)]* +sin(8)—1=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(6)]3—cos(6):0)
N05:[ 1=(2cos(B)—1=0) .2:(4[003(9)]2:1)}
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.9711

NO]={]=(200$(9)—1=0) .2=(4[sin(9)]2—1=0)}
3=(cos(20)=0) A4=(sin(30)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0)sin(0) =tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(40)=0) 4=(sin(20)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[sin(6)]2—cos(6)—1:0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N05:[ A=(2sin(0)—1=0) .2=(4[sin(9)]2:3)}
J=(tan(0)sin(0)=tan(0)) .4=(3 [tan(@)]z— 1=0)
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TrigonometryExercise6 for No.9784

d=(2cos(0)—1=0) .2=(4[cos(0)]" -3 = 0)}
3=(cos(20)=0) 4=(cos(40)=1)

d=(2 [sin(@)]z— sin(B)-1=0) .2=(2 [cos(@)]z— sin(B)-1=0)
No2 =

No]:[

3=(2 [sin(@)]2 +sin(0)=0) 4 =(cos(0)—sin(0) =«/5)
S =(2tan(0) cos(0)=tan(0)) 6=(4 [cos(@)]3 —3cos(0)=0)

N03:[.I:(2sin(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(30)=1)
I=(2[sin(8)]" =3sin(0)+1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(sin(9)—cos(9)=«/5)
5=(tan(0) sin(0) =tan(0)) 6=(4[sin(0)] -3 sin(0)=0)
N05{ 1 =(2sin(0)-1=0) .2:(4[sin(6)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.10143

No]:{l =(2cos(0)-1=0) .2=(4 [COS(G)]2—3 :0)}

3=(cos(20)=0) A4=(sin(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]" +3cos(6)—3=0)
No2=| 3=(2 [cos(@)]z—cos(G)zo) 4= (cos(0)— sin(e):«/g)
S =(tan(0) sin(0)=tan(9)) 6=(4 [sin(e)]3 —sin(0)=0)
N03:[.]:(2 sin(0)+1=0) .2:(4[sin(9)]2—1=0)}
3=(cos(40)=0) A4=(sin(30)=1)

3=(2 [cos(@)]2+cos(8):0) 4 =(sin(0)—cos(0) :«/5)
S =(2tan(0)sin(0)=tan(0)) 6=(4 [cos(@)]3 —3cos(0)=0)
N05:{ 1 =(2sin(0)—1=0) .2=(4[cos(9)]2:1)}

J=(tan(B)cos(0)=tan(0)) .4= ([tzm((?))]2 -1=0)
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXKXKXKXKXKXKXXKXKXKXKXKXKXKX
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No4 =
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TrigonometryExercise6 for No.10359

NO]:{I:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(40)=0) 4=(sin(30)=1)
.]=(2[cos(9)]2+3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2 = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(6)]3—cos(9)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(cos(30)=0) 4=(sin(20)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[sin(0)]*-sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=tan(0)) .6=(4[sin(0)] —sin(0)=0)
N05:[ A=(2sin(0)—1=0) .2:(4[003(6)]2:3)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXKMS/1-6500306-00012XX
TrigonometryExercise6 for No.10626

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(40)=0) 4=(cos(30)=1)
d=(2[sin(0) —sin(0)—1=0) .2=(2[sin(0)]*+3 cos(0)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(cos(6)—sin(6):«/5)
J=(2tan(0) cos(0)=tan(0)) .6=(4[sin(0)] —sin(06)=0)
NO5{ 1=(2cos(8)—1=0) .2:(4[cos(9)]2:3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.11002

NO]:[.I:(2sin(6)+1:O) .2:(4[sin(9)]2—1:0)}
3=(cos(30)=0) 4=(sin(30)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[005(9)]3—cos(6)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(40)=0) 4=(sin(20)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* +3 cos(8)—3=0)
No4=| .3=(2[sin(0)]*+sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(@)]3—3cos(6):0)
N05:{ 1=(25sin(8)-1=0) .2:(4[sin(6)]2:3)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.11188

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’—1= 0)}

3=(sin(20)=0) A4=(sin(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[sin(6)]2—cos(8)—1:O)
Nod=| .3=(2[sin(0)] +sin(0)=0) .4:(cos(6)—sin(6):«/5)
S5 =(2tan(0)sin(6)=tan(0)) 6=(4[cos(8)]’ —cos(8)=0)
NO5{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.11505

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(sin(20)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(cos(6)—sin(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(0)] —3sin(0)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(30)=0) 4=(sin(30)=1)
1=(2[sin(8)] —sin(0)—1=0) .2=(2[sin(8)]* —cos(8)—1=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(@)]3—3cos(6):0)
N05:[ 1=(2sin(0)-1=0) .2=(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.12113

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—1=0)}

3=(cos(40)=0) 4=(cos(30)=1)
I=(2[sin(0)] =sin(0)=1=0) .2=(2[sin(0)]" +3 cos(6)=3=0)

No2=| .3=(2[sin(0)]* +sin(0)=0) .4=(cos(6)—sin(6):«/5)
J=(2tan(0)cos(B)=tan(H)) .6=(4[sin(9)]3—3sin(9)=0)

No3=[‘] =(2cos(0)—1=0) .2=(4 [cos(e)]2_3 :0)}

3=(sin(20)=0) 4=(sin(40)=1)
d=(2[cos(0)] +cos(8)—1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
Nod=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[sin(8)] —sin(6)=0)
NO5{ I=(2sin(8)—1=0) .2=(4[cos(9)]2:1)}
3 =(tan(0) sin(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.12541

NO]:{I:(2sin(6)—1=0) .2=(4[cos(9)]2—1=0)}
3=(cos(40)=0) A4=(sin(20)=1)
.]=(2[cos(9)]2+3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(6)]3—cos(9)=0)
N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(cos(30)=0) 4=(sin(30)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
Nod=| .3=(2[sin(0)]" —sin(6)=0) .4=(cos(9)—sin(9)=«/5)
5 =(2tan(0)sin(6)=tan(0)) 6= (4[sin(0)] - 3sin(0)=0)
N05:[ 1=(2cos(B)—1=0) .2:(4[003(9)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.12590

No]:{l =(2cos(0)-1=0) .2=(4 [COS(G)]2—3 :0)}

3=(sin(20)=0) 4=(cos(20)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]" =3 cos(6)=3=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(9)]2—1=0)}
3=(cos(40)=0) 4=(sin(40)=1)
.]:(2[cos(8)]2—3cos(8)+1=0) .2:(2[sin(6)]2+cos(6)—1:0)
No4=| .3=(2[cos(0)]*—cos(0)=0) .4=(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0) =tan(0)) 6=(4[cos(0)] —cos(0)=0)
N05=[ 1 =(2sin(0)—1=0) .2=(4[sin(6)]2=3)}
3= (tan(0) cos(0)=cos(0)) .4:(3[tan(8)]2—1=0)
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TrigonometryExercise6 for No.12621

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
1 =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)—cos(6):«/5)
5= (2tan(0) cos(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(30)=0) 4=(sin(40)=1)
d=(2[cos(0)]*+3cos(0)+1=0) .2=(2[cos(0)]* +sin(8)—1=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)+cos(9)=«/5)
5=(2tan(0)sin(0) =tan(0)) 6=(4[sin(0)] -3sin(0)=0)

No _{ A =(2sin(0)-1=0) .2:(4[sin(6)]2:1)}
- 3= (tan(0)sin(0) =tan(0)) .4=([tan(0)]’=3=0)
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TrigonometryExercise6 for No.12641

NO]_{]=(2sin(9)+1=O) .2=(4[sin(9)]2—3=0)}
L 3=(cos(30)=0) 4=(cos(20)=1)
1=(2[cos(0)+3cos(0)+1=0) .2=(2[sin(0)]+3cos(0)—3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(9)) .6=(4[sin(9)]3—sin(9)=0)
N03_[.]=(2cos(6)—1=0) .2=(4[cos(9)]2—1=0)}
L .3=(cos(40)=0) 4=(sin(20)=1)

3=(2 [cos(@)]2+cos(8):0) 4 =(cos(0)— sin(@):«/z)
5=(tan(0)sin(0) =sin(0))  .6=(4[cos(0)]’ -3 cos(0)=0)
N05:[ 1=(2sin(0)—1=0) .2:(4[sin(6)]2:1)}

J3=(2tan(0)sin(0)=tan(0)) .4= ([tan(@)]2 -1=0)
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I=(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]* +cos(8)—1=0)
No4 =
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TrigonometryExercise6 for No.12674

NOI:{I:(2sin(6)+1=O) .2:(4[cos(9)]2—3=0)}
3=(cos(30)=0) A4=(sin(20)=1)
.]=(2[sin(9)]2+3sin(9)+1=0) .2=(2[cos(9)]2+sin(9)—1=O)
No2=| .3=(2[sin(0)] —sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(8)=0)
N03:{1:(2sin(6)—1:0) .2:(4[cos(6)]2—1:0)}
3=(cos(20)=0) 4=(cos(40)=1)
I =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[cos(6)]3—cos(6):0)
N05{ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:3)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKKXKMS/1-6500306-00022XX
TrigonometryExercise6 for No.12728

NO]_{]=(2sin(9)+1=O) .2=(4[sin(9)]2—1=0)}
L .3=(cos(40)=0) 4=(sin(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(6) cos(0)=tan(0)) .6=(4[cos(9)]3—cos(9)=0)
N03_[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—3=0)}
L .3=(cos(26)=0) 4=(sin(30)=1)

3=(2 [cos(@)]z—cos(e):O) 4 =(cos(0)— sin(@):«/z)
5=(tan(0)sin(0) =tan(0))  .6=(4[cos(0)] -3 cos(0)=0)
NO5{ 1=(2cos(0)—1=0) .2=(4[sin(9)]2=3)}

J=(tan(0) cos(B)=cos(0)) .4= ([tan(@)]2 -1=0)
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A=(2 [sin((?))]z— sin(0)—-1=0) .2=(2 [cos((?))]z— sin(0)—-1=0)
No4 =
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